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Question 1
Outline and explain each of the components of a research proposal. Give
examples were necessary (25 marks)

Question 2
A study was carried out to compare the effects of four (4) different feed
additives on the yield of milk from IHolstein Cattle on a dairy farm in Eswatini.
The experiments used twenty (20) Holstein cattle all in the first lactation. This
created five (5) replicates per feed additive diet.
(a) For this study
1. State the null hypothesis (2 marks)
it, State the alternate hypothesis (2 marks)
(b) Using an example from the study, define each of the following:
i. Treatment (2 marks)
ii. Experimental unit (2 marks)
iii. Factor (2 marks)
(c) Present a schematic layout of this study with four diets, 20 cattle and five
replicates (15 marks)

Question 3
Discuss the differences between the formal survey, participatory rural appraisal
and rapid rural appraisal giving examples were necessary. (25 marks)

Question 4

An experiment was carried out to determine if there were any differences in the
amount of feed consumed by adult Boer goats in different months, The following
data are weights of feed consumed per day by adult Boer goats collected at different
times of the year.

February May August November

4.7 4.6 4.8 4.9

4.9 4.4 4.7 5.2

5.0 4.3 4.6 5.4

4.8 4.4 4.4 5.1

4,7 4.1 4.7 5.6

4,2 4.8

Was there any difference in the amount of feed consumed between the
different months at ¢=0.05?7 (25 Marks)
Question 5

Surveys are one method of carrying out research.
i. Explain the key considerations that must be made before carrying out a

survey (15 marks)
ii. What are the main components of a survey budget? (6 marks)
iii. What are the essential principles for carrying out PRA and RRA? (4 marks)

THE END
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ADDENDUM: Formulae and F-tables
Completely Randomised design (CRD)
. ' % x)?
L. SStotal = Exlz - _;)_‘
where: x; represent the individual observations
. i L x)?
1. SStreatment = ;;E Tiz - (_—n_"
where: k is the number of replicates
T; represent the treatment total
IiL. SSerror=SSotal — SSureatment
Randomised Complete Block Design
. % x)?
1. SStotal = lez = '(""n—
where: x; represent the individual observations
2
i, SSpocr = %Z sz — EE-EL (where k is the number of treatments; By is the total

of the j"™ block)

i, SSpck = -3 B?

_@x?
b J n
blocks

(where T; is treatment total and b is the number of

v SSerrorx SSrom!"SSbiock‘SSrreatmem‘

Regression

2 E 2z
SSy =Ly - &2~ §Sx = Laf — E-
Syy = nxXy — (ZX)SQZ;V) SSreg = bisxy
by = iﬁf’ bo= § - bik

y:bo+blxi
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